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SA- - H2A(3A) - MRANEY - BES Ofl &F 4 I ZH Hnsz
oI = ALY 707,808 727,698 19,890
2 19,600 19,600 0
= 35,000 35,000 0
= 5,000 5,000 0
Al 648,208 668,098 19,890
ERYFL - AN (IELNANL/NALEA) 490,250 510, 140 19,890
2 4,000 4,000 0
= 35,000 35,000 0
= 5,000 5,000 0
Al 446,250 466, 140 19,890
PNE=PuLC] 235,077 238,017 £2,940
NEE-E-E 3= 235,077 238,017 £2,940
201 Yete Al 33,912 36,852 £2,940
01 At 22t 6.720 9,660 £2,940
osgsy 420 3,360 ~2,940
- BREXNZEAVS HFHLY 420 1,680 A1,260
—NHWEMSIBSBA Y 0 1,680 A 1,680
Ex e 112,070 127,520 A 15,450
BAIXIOb22] 112,070 127,520 A 15,450
101 0124t 13,520 28,970 A 15,450
04oIAHZERSE S 13,520 28,970 A 15,450
OMNLBAIXI I PR2E 13,520 28,970 A 15,450
-J123 9,848 22,008 A 12,160
—FRay 2,460 4,377 A1,917
—dRey 501 1,001 A500
— 2AAlH| 711 1,584 A873
CREFLBL 143,103 144,603 A 1,500
2 4,000 4,000 0
= 35,000 35,000 0
< 5,000 5,000 0
Al 99,103 100,603 A1,500
SSMHNed 3,600 5,100 A 1,500
301 YetE A 0 1,500 A1,500
1B &3 0 1,500 A1,500
OFSMHSHY 2AetalD 0 1,500 A 1,500




